Finding perimeter of 2 dimensional shapes
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Solution

4< Finding perimeter of 2 dimensional shapes )7

Find the perimeter of the following |
1 21in Perimeter = sum of all the side lengths . -
in/ \2i = (Q+2+2+2+42+2)] -
\ =12in.
AT \ /Z/in So, the perimeter = 12i
2in
2 Perimeter = sum of all the side lehgths
3ft o N3 ft = (3+3+3+3+3)ft
il ) = I i
B f \\ //Z ft So, the perimeter = 15fit
3ft
3. Gerh Perimeter = sum of all the side lengths.
F(@GE+6+2+2)cm.
2cm 2cm =16cm
So, the perimeter = 16cm.
6cm
4. At Perimeter = sum of all the side lengths.
,/ il = (4+4+4+4)m.
/ =16m
\\ So, the perimeter = 16m.
4m \\ Am
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